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Subject : History
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~ Time ; 3 hours ] [ Maximum Marks__:’_l
e : T WY 7 I *"f B
Note : Attempt all questions. . .

)T e AR AUs § ) ave (9) Fgfasmhedid 19T,
(F) R @1 qfd Hiforg aa wvs (/) T et
JdF Y W 1 3 3Efed & .
’Ing"-tf‘uction : () Question No. 1 has three parts. Part (A) has Multiple
$ choice questions, Part (B) has Fill in the blanks and Part
(C) Match the column. Each question carries 1 mark.

%
.,l

‘-1 (@ue-31) Tl faweq g fafaa C o [1x10=1(

(Part-A) Choose and write the correct option :

(i) e %2 STy Sl o) e g9 et

(37) 1600 4. H (%) 1700 §. W

(7)) 1800 % o (?) 16648 o

French Fast India Company was established in :

(a) A.D. 1600 (b) A.D. 1700

(¢) A.D. 1800 (d) A.D.1664
. T ‘ | —
vio2 B | HNEINH R ORI P.T.O.
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(iif) S 1 TOvIeT fopesh et o €311 12

(37) TS Fi (7) @re swia
(%) wiE ARves (3) wie faferm dfes
During whose time Bengal was partitioned ?
’ (a) Lord Curzon (b) Lord Dufferin
(¢) Lord Mountbatten (d) Lord William Bentinck

(iv) T SR Y sTEEE e i wufitd frar a1 ?
| (37) TR H A % HR

(F) FERRI H0S F HRU L
(3) SIS | S FH SR

Why had Gandhiji stopped Civil Disobedience Movement?
(a) Due to Champaran incident

(b) Due to Chauri Chaura incident

(¢) Due to Kakori incident

(d) Due to fear of Englishmen

(v) T T Y T g R ?

(37) 1906 . () 1919%,
(F) 1909 %, (%) 1905 ¥,
- When was Muslim League founded?
(@ A.D. 1906 () A.D. 1919
(¢) AD. 1909 (d) A.D. 1905
Mé62B
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(vi) - e AU fep A T e T 2
(N H=L19p7 () T 1908
(/) ¥ 1909 (%) ¥1910
Morley-Minto Reforms Act was passed in which year?
(a) 1907 () 1908
(c) 1909 @ 1910

(vii) BTG 1 TR § :
(37) Tt (F) s
(%) W (?) fog
The Khajuraho of Chhattisgarh is :
(a) Rajim (b) Bhoramdev
(c) Ratanpur (d) Sirpur

(viii) o8 ¥ T e R W verd W e T a2
(&) T7h (7) Wt
(%) =m (3) wiw
In France, the ‘Gavelle tax was impoied o which CATBTE Mo

. }" (@) Salt (b) Sugar
;e (¢) Tea (@) Coffee

(ix) |1 1688 ) TR shifa o 2 Q T 2
(3 Wi () st
(%) =« (7) ¥l
The Bloodless Revolution of 1688 is related to which country?
(a) France (b) America
(¢) Russia (@) England

(x) SRR TEET WO h /A w1 WA S i ?
(37) wifd aiferTes (%) WA T
(F) 99 SR (3) oTamed feleA
Who was the Commander-in-Chief of the Army in the American
Freedom war?
(a) George Washington (b) John Adams
(¢) Thomas Jefferson (d) Abraham Lincoln

- P.T.O.
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(@ue-w ) faa e & gfd B : (1,55
(Part-B) Fill in the blanks :
() AU EEd — F AR

‘Mein Kamph (My Struggle )’ is written by .
(i) T forva T = e /9 — o gaT

Second World War started in A.D. ____ .
(ig) ‘<" <1 wmfeser 31 — %

The literal meaning of NATO is ____.
(iv) reirfieor =) yeaa — ou B g8 49

Industrialization started in ____ country.
(v) WA STIRE STHuH e R — T e 7l

Indian Space Research Organisation is situatedat _____

B . [1x5=5)
(i) ToFr<& T - (a) 3R =% foemarR
(i) fg <A - (b) T T R W
(iif) Tereran qAfdamg - (c) 1% =rdie™
(iv) el H - () T AR TR
(v) TS - (e) THFS WHeH
(Pari-C) Match the column :
(A) (B)

(/) Guru of Vivekananda - (a) Ishwar Chnndrla Vidyasagar
(1/) Shuddhi Movement - (b) Raja Ram Mohan Roy
(i) Widow Re-marriage - (¢) Guru Ghasidas
(/v) Brahma Samaj - (d) Swami Dayananda Saraswati
()  Social Harmony - (¢) Ramkrishna Paramhansa
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(i) W HHiw 2 ¥ 13 9% s 7 € ) Y@% T w
2 3 aTifed € | (IW HY Afehan I=R-d 30 = 2)

Instruction : (if) Question Nos. 2 to 13 are very short answer type questions.

Each question carries 2 marks. (Maximum word limit of
answer is 30 words)

WH-2 ST WO %) SI91 R 491 91 7 [1+1=2]
What was the objective of the establishment of Arya Samaj?
W-3 @9 <A & Q) 3evd fafau [1+1=2)
Write two objectives of Swaraj Party.
WA-4  Toerdd sTer ¥ oY wm wem ¥ 2]
What do you understand by Khilafat Movement?
U¥-5 wmaﬁmﬁmm@%m%wmm S [1%1=2]
What were the causes behind emergence of revolutionary emotions
in Indian National Movement?
U91-6 mﬁmm#mwawmaﬂ?é? L it i -'“5 : [21'
T Who was the founder and forerunner of National MO\ emem m‘—_‘-n\
7 Chhattisgarh?
WA-7  HRTe T i wenen we o 42 2)
’ When had Mahatma Gandbi visited Chhattisgarh for the first time?
W-8  GHIM Fiaerd o1 atd gagRy ) [2]
Explain the meaning ol Contemporary History.
-9 I % T Q1 iRl st el & T fafaw [1+1=2)
Write the name of any two French philosophers or thinkers.
T¥-10 &4t shifd o1 gt fora foman e ? (2]
Who had Jed the Russian Revolution ?
UeT-11 B UH K1 YYH FAiad Fel [6ud ol ? $0eh! WIE 1 FHgaw o 7 [1+1=2]
Where was the head-office of United Nation situated? What was its
chief called?
P.T.O.
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W-12  qa-SufraveEre # R ? fafae [2)

What is Neo-colonialism? Explain.

wW-13  'HR R (2]
What is ‘SETO’?

fraer P (fi)) W AR 14§ 20 9% ogIEdd WE &1 T&F TH W
3 3 mEfed €1 (I A SAfehan T 50 U= ¥)
Instruction : (iii) Question Nos. 14 to 20 are short answer type questions.

Each question carrics 3 marks. (Maximum word limit of

answer js 50 words)

Wi-14  fafagm dfew & W gmfoes gunl o 9ot Fife) [1+1+1=3]

Describe three Social reforms of William Bentinck.

wyT-15 Wﬁmﬁﬁﬁﬁafwﬁ%mmml

Write three causes of poor social condmon of\\omen

[1+1+1=3)

W16

ﬁqmrﬁa;wnﬂaﬁ%ahwfaf@m [11+1 =3] -
Write three causes behind the discovery of new commercial routes.

U¥I-17 1857 I il o fiA snftles s faf) [1+1+1=3]
Write three economic causes of Revolt of A.D. 1857.

W18 TR | HY STHEGE & qH Hw ferfay | [1+1+1=3)
Write three causes of failure of United Nation,

W19 WY g W F W A wdvg fafay [1+1+1=3]
Write three main objectives of United Nations Organisation.

q¥-20 mmmﬁwmﬁmmaﬁ?ﬂWWWavhaﬁfmn [1+1+1=3)

Write three effects of Cold War on world politics.

Mé62B
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(7]
Ao s (iv) mmmﬁﬂﬂmaﬁﬁﬂam%nmmﬁmﬁx
ﬁm%luﬁmmwsmﬂﬁﬁaﬁl(miﬁm
TZ-HE 100 W= ¥

Instruction : (iv) Question Nos. 21 15 27 are long answer type questions

Each question has an interpj] option. Each question carries

5 marks. (Maximum word limit of answer is 100 words)

W¥A-21  SerrE i RS SR o yae e 151
What were the effects of French Revolution on world history?

Heq7/OR
R WA 35 ¥ iy wfiomy fafaw)

Write the five consequences of American Independence Struggle

» . N

A I'J{’

e

I R e C
T e —_

~ Explain five economic effects of Industrialization,

3HIAT/OR
‘ARt &1 H gE W A wfteed ¥ anei @ faere fea ¥ 1! e
“The progress made in the technical field has developed the means of
transportation.” Explain.
WY-23 1857 &1 ShIf-d i STqEerl & Wi R faf@q) 5]

Write five causes of failure of the Revolt of AD 1857,

erqr/ OR

i shif=d % ol AU R

Describe the causes of Russian Revolution.

Mé62B
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wyI-24

T9q-25

- - —_26'#-"

wo-27

[8]
et fava g & < Y o 3 ot el @ vk i)

Describe five causes of defeat of Germany in Second World War.

HeIqT/OR
Tl H WHIHERE % I3 F wl H fafae )
Write the causes of rise of Fascism in Italy.
AUGT WA Sl Heed Thadied ifs |
State the importance of Bandung Summit.

3Hgar/OR
Y] ST faee | w2 AR

What is Nuclear Test-Ban Treaty? Explain.

Describe the main reforms of Dalhousie.

| arerar/OR
sire—sre G A Sl @ W & W w2
of the Englishmen in the

ki
What were the main causes of success

Anglo-French Conflict?
g F wepta 3 v fadad fefee

n characteristics of Culture of Chhattisgarh.

argar/OR

Write the mai

‘Wﬁﬁn@feﬁﬁﬁﬂam‘mwml

Write a note on ‘Galta Silli Forest Movement in Chhattisgarh’.

v et s

(5}

(5}

(5]
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